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(— ) Edison Corporation has a few large accounts receivable that total
$1,400,000.Victor Corporation has a great number of small accounts
receivable that also total $1,400,000. The importance of a misstatement
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in any one account is therefore greater for Edison than for Victor, This is
an example of the auditor’s concépt of

(1)  materiality.

(2)  comparative analysis.

(3)  reasonable assurance.

(4) relative risk.

(=) When evaluafing the adequacy of the allowance for uncollectible
accounts, an auditor reviews the entity’s aging of receivables to support
management’s financial assertion of

(1)  existence or occurrence.
(2)  valuation or allocation.
(3)  completeness.

(4)  rights and obligations.

(=) A CPA obtains a January 10 cutoff bank statement for his client directly
from the bank. Few of the outstanding checks listed on his client’s
December 31 bank reconciliation cleared during the cutoﬂ' period. A
probable cause for this is that the client
(1)  is engaged in kiting.

(2)  is engaged in lapping. .
(3) transmitted the checks to the payees after year-end.
(4)  has overstated its year-end bank balance.

(P4 ) The evaluation of audit field work of an operating unit should answer the
following questions:
1. What are the reasons for the results?
2. How can performance be improved?
3. What results are being achieved? \
What is the chronological order in whlch these questions should be

answered? -
1 3-t1-2. 4 1-2-3,
(2) 1-3-2. (5) 2-3-1.

(3) 3-2-1.
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